Maths
Week, 6

l\/\or\dmé/— Arithmetic test
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Questions and answers
You have 20 minutes to complete this test. ° >/O{l/ mﬂlé/ U)Oni-/ t()’ OV CO'lllm,n/ mfih.D'dJ }Of\ SOMe

Work as quickly and as carefully as you can.

Put your answer in the box for each question. g/ mmé/ wani'/ tO* df‘O.UJ‘ P/LEJ:O'T\LOJ\BJ OEO{\

3403 + 1250 = 3x4=

. 3L03 @ © @ o

If you cannot do one of the questions, go on to the next one. ® © O ©o

You can come back to it later, if you have time. # 2 5 O e © o o
If you finish before the end, go back and check your work.




1

248 + 100 =

1 maxric

7x11 =

1 mark

1,245 + 324 =

1 mark

10 less than 729 =

1 mark

48 + 4 =

1 mark

795 -541 =

1 mark




[ 3. 5x2-=

1 mark

2,384 + 3,096 =

1 mark

4 x 60 =

1 mark

1 mark

1,300 =

+ 1,289

1 mark

7,395 - 2,470 =

1 mark




4,598 rounded to the nearest 10 is

1 mark

9,000 - 6,346 =

1 mark

+6=12

1 rmark

80=+2=

1 mark

72

1 mark

5,623 + 1,000 -100 =

1 mark




40 + 5=

X 2

4,500 + 776 + 95 =

1 mark
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Durmgxtodo%s/\/\aﬂw@lessom gowwdl/hm:’ﬁmnuiesf

complete an Reas
All the questions meem

taug}\tso(ﬁanﬂwgw

N

Questions and answers
You have 35 minutes to complete this test.

Follow the instructions for each question. U -u-\ﬂ . t‘)’
Work as quickly and as carefully as you can. S& SP,GL)(’/ PI\OWd'edl

If you need to do working out, you can use the space around the question.
Some questions have a method box like this: W“Pld@ (V_L%hm&.

Show . .

‘ askmgzgowtodo

For these questions you may get a mark for showing your method.

If you cannot do one of the questions, go on to the next one.
You can come back to it later, if you have time.
If you finish before the end, go back and check your work.




There are 380 cars in a car park.

120 cars leave.

B rrewenenstatoewe

3x4=4+4+4
3x4=4x3
3x4=2x6
3x4=12x2

cars

Olivia and Charlotte are representing numbers on a grid.

1,000s | 100s | 10s | 1s 1,000s | 100s | 10s | 1s
ol 9% |lole, |9
e°(% e |9
0 e
Circle

Olivia Charlotte Both of them




The letters A, B and C represent three numbers.
A B
0T
6,000 7,000

—Q0

6,726

6,920

6,355

Kallan makes a number.

Kallan wants to partition his number in different ways.

o

2 marks




ﬂ Brooke is talking about adding 100

B Here is a comrect calculation.

[ sieiehiiog 568 + 422 = 990
For example 2,570 + 100 = 2,670
422 — 990 = 568
 Give an example to show that Brooke is not correet.
422 + 568 = 990
422 = 568 — 990
- 422 = 990 - 568

0 | 256 | 50 150

568 + = 1,010




o Amir has £275

He gives £105 to his mum and £80 to his dad.
He shares the money that is left equally between his 10 friends.

Show

your
method

2 marks

18

180

180

30




A shape is drawn on a centimetre squared grid.

cm

) vocco-ometesmmenons

3 thousands, 4 hundreds and 2 ones O 3,420
1,000 less than 9,700 O 1,000 more than 8,700
3,997 rounded to the nearest 10 O 4,000




Here is a number line.

Courtney is using the column method to work out 3,999 + 5,999

3(9|9(9
+(5|9(9]|9
9(9|19|8

1 mark

Egys are packed in boxes of 6 and boxes of 12

The table shows the number of eggs sold in a shop on a Saturday.

Box of 6 12

Box of 12 10

On Sunday, the shop sells 150 fewer eggs than they did on
Saturday.

They do not sell any boxes of 12 eggs.

Show
your
method

3 marks



Maths.
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P . T
L..I_ Timed, Pair Share: Which
j cohmvshowdjlahw%@

Work oub the missing digits
the/ : Laits, start withy?
-
h| H O | [What do you notice abouk
2 : : L- the columrv?
2171
Hous hundreds shoould,
318138 e gt




Pl L: Timed Pair Share: Whish coliomm should: T alisags
Work: out: the: missing digits. stort with?

8 [ -1

Th

Whatdog,ownohwaboubth@ column?

? + / =3 :
? +7 msteqpab@

% .
13 tens - / tens = 6 tens. .

ool | o T
(@)
ofF~| | O




Leax\nmgx oulicomes:

L O: o.addjhuo[._ digil numbers  with
Cor\eSEilL—.I carv add two- [, dkgxbr\umbﬂ\s/tog,eﬂw\

D Task - I carn solme worded, |

Greater D —Icame»oplﬂm reasoning to-
me "




Appl%/todmomsh\af@

. 2657 + 3235-

2. 1,739 + 2[.25-

e mwm T o e by v gour
| '2'2 g%) B
+ 13121310 Step twor Add the ones,
_______ Step threes Add the tens
20- TRHTIO | Step four: Add, the, hundreds.
1 %/7 %g Step fimer Add the thousands.




Appl%/todmonsh\af@

| ThNHTO] | =
. 2657 + 3235- 2 657 e ot gy comrs
| © ez o oo + 3 23D Seamones Ao e
regrouped, into | tens. 58 g2
| Step three: Add, the tens:

2L 739+ 2L25- | T e

1O s hew b 2. O A |
egrouped into | tensand | | | Ll /| 39 Step fiwer Add the thousands.
|© hwdhedlolere s + 121 25
regrouping ko | | .7|.|.6.L. |




Appl/g/’to dermonstrate:
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Appi%/todmonsh\aie:
Depthv stiyle guestion:
A submarine dives 1359 metres belowr the

mb,e?{:omr\eodung/ amOotopw&. 1t dines
ojofurthe,r\ 21,38 metres to the sea bed. Hour

mwmehwdoe&lbdhveoltogfﬂ\a\?

0T




Apply to- demonstrate:
Depthv style question: -
A submarine dires 1359 metres below the B
water before reaching an Octopus. It dives =2

a further 21,38 W\Eil‘%/tﬂt}\fzse(]/b@d/ Hows YV Tl
maruy metres does i dine altogether? complingu@%fﬁhﬂmf?

HENE PP the ey nformation

H 1|O Step tusor

3 5 q Set out the columns.

[ 378 e aad e remers togelher.
‘. |

Remembentof‘egl‘oupum
needed.

|
+ 21
131 /]




1 ask:

Core skill,

into- your maths book

. 2037 + [.536 -
2. 198 + 235l =

5. 6728 + 1325 =
6. O8L.3 + I, 72 -

3.290.8 + 5932 -
[.. LO79 + 2Il,.3 -

Depth, Task

. A wnstnud‘iorusli&use&ﬁ_f)ﬂkg/oaﬁ
Lpﬂwus&arwﬂwx25ﬁ.0kg£onﬂw

of another house. Hous

kilograms did they, use, altogether?

2. What is the surmv of three thousand, four
thousand, eights hundred: and, twenty J:we'?
3. Fauzaarvr\wwhf)SOmei‘,r\e&

a break. He then runs another 2570metres.
menx&:meb*e&doe&h&moltog,d}w?
[.. Umar s a computer game.
The table shows the: number of p her gets
v eachy round.

Round | ? 3
Number of | 3,550 2175 ,895
points
a) Hour maruy points: does Umar have ab
the end, of Round, 27

b) He needs 8,000 by the end, of Round, 3
to- wirv the

DmUmmﬂwgonw?




Greater Depthy
Annie, Mo and, Alexs ares

working, oub the,

solution to- the calculation 6,371 + 2,823

Annie

RG’J\A@OLOH&U@I"S/

Annie's
6,000 + 2,000 - 8,000
300 + 800 - I0
/70 +20-90
L+3-7
8,000 + 110 + 90 + 7 - 8,207
Mo'&shntﬁgxé/ Alﬁ»o’ﬁshﬂi%
6 3 7 4 6 37 4
+ 28 2 3 + 2 8 2 3
8 1 97 !
9 0
1710 0
8 00 O0
9119 7

Wheo s correct?

Alex;

RG)\/‘GOLOIIGW‘S/

RG’J\/‘@OLOHWS/
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Pl L: Timed Pair Share:
What operalion could 1 to- work oub the
rTwszsLng/munben? - hfip/



Pl L: Tined Pair Share:

Towonk/oubth@mi&singxnwnbm
px\oblml need to use the inamerse
operation.

Themme»s&op@ahmlssubtmd:iom




Leax\nmgx oulicomes:

L O: oaxbbr\afi}nunxbﬂ\swﬂvuptoﬁﬂoupd%b&m

Cor\e/SkilL;Icamsubh\ar,thuoL dxgxtnumbﬂ\s/wdh

D ask - 1 carv use knouwr addition

Greater D - 1 carvuse g To- b |




Present; neux

Seb oubUme/ columns.
Stepm)o:

Step three:
Step four:
Step fuver

Rerrwmbe,n’(o-r\e,gmoup
whﬂ\egownmd;’ro!




Present; neux

Seb oubUme/ columns.

et e tons,

Rerrwmbe,n’(o-r\e,gmoup
whﬂ\egownmd;’ro!




Appha/to dermonstrate:

Dmmmm@t@m@w.

S 0, VI
Siei//poub the columns.

et e toms,

Rerrwmbe,n’(o-r\e,gmoup
whfx\egownmd;’ro!




Appha/to dermonstrate:

Dtsws&whimmnﬁed;toshow@negmupmg.

| terv has beery

regrouped into [0
ones and; |

into O hundreds.

has been regrouped, | |

| hundred has beerv

r\egmupfdmto@
ten, and, |

O hundreds.

into-

S 0, VI
Siei//poub the columns.

et e tors,

Rerrwmbe,n’(o-r\e,gmoup
whﬂ\egownmd;’ro!




Appi%/todmonsh\aie:
Depthy stiyle oru 2 step problem i"‘

Minnow saids 196 metres the coast .
o Brighton,and (3.0 o Y S, L

celand s | /00 metres P\omJBm%\tom .
How([:ax\doe/s/ Minnour mw sails

g e by
THRHTO | ThHTO | [R5 smaler
| B%g 7000 | |Stepthree:

i Subtrach the, total, from the;
— - lo.r\g,e}strwmber\




Apply to- demonstrate:
Depthy stiyle question: 2 step problem D

Minnow sails [96 metres the coast .
o Brighton,and (3.0 e away jrom the coash  ——

e e Nhenesy sy fror. Bighion
TRHTO [ TRHTIO | R 8% snller
LA~ 020L e




1 ask:

Core skill

Whrite the following questions
into- your maths book.

. 938 -235L - [ ]
2. 3295 - 18[.2 -

3. 3352 - 1826 -

.. 6297 - 2819 -

5. 7056 - 3508 -

6. 3705 - 21,26 -

Depth, Task

. John earns £IL.85 o month as @ bus
driver and, his' wife eamns £1760 as o
teacher. If John gets o pay rise of £217 o

he earrv?

2. This table shows the heights of three,

mountains.

Mountairy Heights v metres
Mounty Everest 3,8L.8 my
Mount Kilimanjaro 5,895 my
Berv Neamis |30l my
Houwr muchs higher s Mount Everest thary
mountains?
3. Faizaar to- runy SO00My over a ]
few days. Onv Monday he runs 2860mv and,

orv |

Uﬁ&dOH/hE/WOJ’lOﬂW‘750I’Tu Hour

mniézmor\e;mftne&doe/&h@hmebe}tto
7

-

-

~

J




Greater Depthy

Fumdﬂwmw&ngnumbe;\&thubcouw

go into- the spaces.

Give your reasons for your ansusers
- L3LS =L _6

What is the greatest number that
could: go- inv the first spaces?
What s the: smallest?

Reameal, answers




Maths
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Ansuwenrs /\/\orxdwé/— Arithmetic tesh

248 + 100 = 7x11= 1,245 + 324 =
21 8 1215
+1 00 + 3210
308 1569
3.8 [0 T 77 H 569
[T 1 | | [T [T
10 less than 729 = 48 = 4 = 795 — 541 =
/29 o ac |
T 1
/7 19 55 L
719 1O s 751
1] | 11 | | |




/A\I’LGUJ@\S/

4 x 60 =

3x5x2= 2,384 + 3,096 =
3555 509%
5 %2 - 30 Lol
30 30
| [
9+ =9 1,300 = + 1,289
[ ] + | + 10 |
289 1290 1300]

7,395 -2,470 =

6
X
- 2
L

395
L /O
925




/\FUS&LHZPED

4,598 rounded to the nearest 10 is

L5938

72

+6=12

| |
L 60 OHL
| | |

80=+2=

9,000 -6,346 =
89Q]
YV N0
_ 631 6
2651
I I |
26510 L
| | |
8 x q =72

5,623 + 1,000 -100 =

5623|6623

+1000[1- 100

6623|6523
Bl
652723
| I




/A\I’LSUJ@\S/

X 2

40+ 5

LO+5=38

8+2 =L

5371

O
6
S 2/6(1 53/

500 + 776 + 95
L

F
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There are 380 cars in a car park. o Olivia and Charlotte are representing numbers on a grid.

120 cars leave.

Olivia’s number Charlotte’s number
1,000s | 100s 10s 1s 1,000s | 100s 10s 1s

0.9 |[o]e [
380 93 ||”le? |e3

-1 20

How many cars are now in the car park?

Who has represented 1,3057
260

2 6 O cars
r— Olivia Both of them

1 mark

Tick the staterments that are true.

3x4=4+4+4

3x4=4x%x3
3x4=2x%x6
3x4=12x2

NRE

1 mark



The letters A, B and C represent three numbers.

A B

S S N S

6,000 I 7,000
6,500

Write the correct letter next to each number.

()

6,726

6,920

> O &

6,355

1 mark

Round 6,355 to the nearest thousand.

6395

6000

Kallan makes a number.

.........................

Write Kallan's number in words.

Oﬂfjﬂ’lOU.S(lﬂdJ,U’U%hUﬂdX‘@dj

1 mark

Kallan wants to partition his number in different ways.
Complete the part-whole models to show two ways he could do this.

I\/\‘
) W




n Brooke is talking about adding 100

B Here is a correct calculation.
568 + 422 = 990

When you add 100 to a number
it only changes the hundreds
column.

For example 2,570 + 100 = 2,670

Tick the statements that are true.

Brooke 422 - 990 - 568

Give an example to show that Brooke is not correct. 74

422 + 568 = 990
2970 Indudﬂl pude anyy N

+ 3607% |Ohundred§,m<;ge/| 422 = 568 - 990
| thousarsd, - 422 =990-568 |y

Complete the number track. P—

Complete the missing number to make this statement true.

0
\
6
"

0 | 25 |50 |75 (00| I25/150 0
| 568 +| [ [, 2 |=1,010

|10 |
VARV
- 0638
= OLLZ




o Amir has £275

He gives £105 to his mum and £80 to his dad.

He shares the money that is left equally between his 10 friends.

How much money does each friend receive?

: DWLdetheonswer\b%AO.

—Wor\leoubhowmummmoﬁﬂ\
_Wmon&a/tohwmomand/

e O

9
\

7
3
9

O
O
O

90 - 10 = 9

Complete a multiplication fact that each image represents.

2

Complete the number sentences.

6

18

60

180

180

30




A shape is drawn on a centimetre squared grid.

Y

3 thousands, 4 hundreds and 2 ones @ 3,420

3 CITv b)é/ 3 cIru 1,000 less than 9,700 @ 1,000 more than 8,700
I b)é/ 5 3,997 rounded to the nearest 10 @ 4,000

3 marks




Here is a number line. Egys are packed in boxes of 8 and boxes of 12

+2

% % % } % )
oy -5 3 | | 3 5 The table shows the number of eggs sold in a shop on a Saturday.
Box of 6 12
Box of 12 10

N | On Sunday, the shop sells 150 fewer eggs than they did on
1 mark Saturday.

They do not sell any boxes of 12 eggs.

Courtney is using the column method to work out 3,999 + 5,999 _
3[ola9 Step oner work out how marwy sold, orv
S

6 5 12 =72 72 + 120 - 192
9191 918 |2 '></|O= |ZO

Courtreyy could have added ory Sunday,
000 cnd 6,000 and,ther 92- 150 1.2
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Core skill

into- your maths book

. 2037 + (536 = 6Y/3
2. AL.8 + 2351 = [.299
3.2490L.8 + 5932 - 8830

. LO/9 + 203 = 6222
0. 6728 + 1325 = 8053
6. O8L.3 + Il 72 = /3I5

Depth, Task
. A wnstnud‘iorusli&use&ﬁ_f)ﬂkg/oaﬁ
cement orv the, qﬁsom&house&
];Fﬂieé«usearwﬂwx25[..0kg/£or~ﬂw

of another house. Hous

kilograms did they, use, altogether?
2. What is the surmv of three thousand, four
thousand, eights hundred: and, twenty J:we'?
3. Fauzaarvr\wwhf)SOmei‘,r\e&
a break. He then runs another 2570metres.
menx&:meb*e&doe&h&moltog,d}w?
[.. Umar s a computer game.
The table shows the: number of p her gets
v eachy round.
Round | ? 3
Number of | 3,550 2175 ,895
points
a) Hour maruy points: does Umar have ab
the end, of Round, 27
b) He needs 8,000 by the end, of Round, 3
to- wirv the
DmUmmﬂwgonw?

. /2l
2. 36L38

3. 71220 my

o) 3550 + 275 -
5725

b) o725 + 1895 =
7620
Nt
PDU‘Lt&



Greater Depthy .
Annies Mo and, Aless are working oub the Annie Mo-
solution to- the, calculation 6,370 + 2,823 Annie s reonrech Mo has .
Annie's strategy because she has shour and, add, the,
miscalculated "
D000 s SO 8000 D e | Zchanged thousand,
300 + 800 - 10 -_ R
ten&wsff,od/oj;”
70+ 20 -90
L+3-7 hundreds. 61317 L
8,000 + 110 + 90 + 7 = 8,207 + 12181213
Mo'&shntﬁgxé/ Alﬁ»o’ﬁshﬂi% Q1] 9]7
637 4 637 4 Alex; |
+ 282 3 +2 8 2 3 Alex s correct; withy
7 q97/.
8 1 9 7
9 0

1100

8 0 0 0

9 1 9 7
Who s correct?




Maths
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1 ask:

Core skill

into- your maths book

. (938 - 235[. = 258l
2. 3245 - 18L.2 = 1,53

3. 3352 - 1826 = 1526

.. 6297 - 2819 - 3L./8
5. /056 - 3508 = 35[.8

6. 3705 - 2,26 = 12/9

Depth, Task,

. johveam&£|h85 a month, as a bus

If Johrv gets av payy

teacher

earmns £1760 as @

Nse qﬁ£2|7 o}

he earn?

2. This table show&the/haght&%ﬁﬂwee

mountains.

MW

Heightt iy metres

Mounty Everest

3.8L.8 my

Mount Kilimanjaro

2,845 my

Berv Neatis

|30l my

Houwr muchs higher

i Mount Everest than

the, combined, height: of the, other two

mountains?

3. Faizaary

MTdﬂH& Orv Mondauy

to runy 0000m, over

uesday he runs another 750m. Hour
nmng»mon@meh\e&doe/&hehaueleﬁ)to
Nr?

he runs 2860m ands .

5
1 L85 | 7o
217 -1 703
7?3 0057
581 8 8%18
+ 13L L -7292
72?2 (556
L9

2860 Slloo
750 -3610
F?'O [ 3 90



Greater Depth
S j6ora e
- 13L5-L _6 /82 and [ tens
/92 and S tens

could: go-rv the first space? 82| and, / tens

| ond 33l and 8 tens
Whb (s the ! |8L_|and1qtensz—th@9»eoi:@stm.
Houwr ' answers coulds
e ] P There are 10 possible ansuwers.
What is the betweery the,
numbers?




